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QUESTION 1

In the following scenario, Route-based firewall redundancy is deployed in a Data Center, which statement is true?
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A. IP addresses of Firewall interfaces will move between devices when a firewall fails.
B. The 2 firewalls are in Active-Standby HA status.

C. Firewalls use dynamic routing protocols to determine the best path.

D. Floating IP addresses are necessary for HA configuration.

Correct Answer: C
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QUESTION 2

Which VM-Series can be deployed on Amazon Web Services (AWS)?
A. Can deploy any VM-Series except the VM-50

B. Only VM-100, VM-200 and VM-300

C. Any VM-Series model

D. Any VM-Series model except the VM-700

Correct Answer: C

QUESTION 3

Which are two use cases for HSCI ports on the SMC module on PA-7000 Series? (Choose two)
A. HA1 backup link in active/active HA

B. HAL link in active/passive HA

C. HA3 link in active/active HA

D. HA2 link in active/passive HA

Correct Answer: CD

https://docs.paloaltonetworks.com/hardware/pa-7000-hardware-reference/pa-7000-series-module-andinterface-card-
information/pa-7000-series-switch-management-card-smc/pa-7000-series-smc-componentdescriptions

QUESTION 4

Which VM series model is NOT supported on VMware NSX platform?

A. VM-500

B. VM-1000-HV

C. VM-700

D. VM-300

Correct Answer: C

on VMware NSX, only the VM-100, VM-200, VM-300, VM-500, and VM-1000-HV firewalls are supported.

https://docs.paloaltonetworks.com/vm-series/9-0/vm-series-deployment/about-the-vm-series-firewall/vmseries-
models.html
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QUESTION 5

A company allows employees some personal use of the internet during work time However the CEO is concerned that
employees are using too much of the bandwidth for YouTube. thus causing a performance problem. Which section of
the SLR could confirm or allay this concern?

A. Categories with the Most Applications

B. Categories Consuming the Most Bandwidth

C. Bandwidth Consumed by Applications

D. High-Risk Applications

Correct Answer: B

QUESTION 6

Which two OpenStack components areused in the creation of a VM-Series firewall from a heat template in OpenStack?
(Choose two)

A. Swift creates the storage resources.

B. Nova creates the firewall instance.

C. Horizon

D. Neutron creates the network resources.

Correct Answer: AC

QUESTION 7

What is the default session distribution policy in the PA-7000 Series?

A. Hash

B. Egress-Slot

C. Round Robin

D. Ingress-Slot

Correct Answer: D

( PA-7000 Series firewalls only ) New sessions are assigned to a DP on the same NPC on which the first packet of the

session arrived. The selection of the DP is based on the session-load algorithm but, in this case, sessions are limited to
the DPs on the ingress NPC.
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Depending on the traffic and network topology, this policy generally decreases the odds that traffic will need to traverse
the switch fabric.

Use this policy to reduce latency if both ingress and egress are on the same NPC. If the firewall has a mix of NPCs

(PA-7000 20G and PA-7000 20GXM for example), this policy can isolate the increased capacity to the corresponding
NPCs and help to isolate the impact of NPC failures.

QUESTION 8

What is the primary operational benefit of a managed Kubernetes service from a Cloud Service Provider?
A. reduced complexity, alleviates the need to run masters

B. less expensive, typically offered at a lower cost than running containers on a VM

C. more powerful, offers more configuration options than running your own distribution of Kubernetes

D. increased visibility, provides more insight into application usage than what is natively available

Correct Answer: A

QUESTION 9

A network administrator is working on a VMware NSX installation with VM-1000-HV firewalls The administrator has
created a security group that is populated with VMs The administrator is trying to create a Dynamic Address Group in
Panorama, but the security group is not showing.

Which task should the administrator perform first?

A. Go into vCenter/NSX and push the objects to Panorama

B. Delete and re-add the security group.

C. Go into Panorama and synchronize the Address objects with NSX

D. Check the NSX Security policy to ensure the security group has been used in a policy.

Correct Answer: D

QUESTION 10

Which two options describe use cases of internal and external tags in Panorama? (Choose two)
A. device group membership

B. template membership

C. Dynamic Address Group membership

D. rule grouping

Latest PSE-STRATADC Dumps | PSE-STRATADC Study Guide | PSE-STRATADC Braindumps 5/6


https://www.passapply.com/pse-stratadc.html
https://www.passapply.com/pse-stratadc.html
https://www.passapply.com/pse-stratadc.html

VCE & PDF https://www.passapply.com/pse-stratadc.html
2024 Latest passapply PSE-STRATADC PDF and VCE dumps Download
PassApply.com

Correct Answer: AC

Latest PSE-STRATADC PSE-STRATADC Study PSE-STRATADC
Dumps Guide Braindumps

Latest PSE-STRATADC Dumps | PSE-STRATADC Study Guide | PSE-STRATADC Braindumps 6/6


https://www.passapply.com/pse-stratadc.html
https://www.passapply.com/pse-stratadc.html
https://www.passapply.com/pse-stratadc.html
https://www.passapply.com/pse-stratadc.html
https://www.passapply.com/pse-stratadc.html
https://www.passapply.com/pse-stratadc.html
http://www.tcpdf.org
https://www.passapply.com/pse-stratadc.html
https://www.passapply.com/pse-stratadc.html
https://www.passapply.com/pse-stratadc.html

